ANTI-SAG TABLE STIFFENER
Spec Sheet

Part #

9114-3100
9114-3700
9114-4300
9114-4900
9114-5500
9114-6100
9114-6700
9114-7300
9114-7900
9114-8500

Specifications

Length

3"
37"
43"
49"
55"
61"
67"
73"
79"
85"

Material: Fabricated Steel

Finish: Black

Mounting:
o Parts 9114-3100 and 9114-3700 requires (14) #10-12 screws
o Parts 9114-4300 and 9114-4900 requires (18) #10-12 screws
o Parts 9114-5500 and 9114-6100 requires (22) #10-12 screws
o Parts 9114-6700 and 9114-7300 requires (26) #10-12 screws
o Parts 9114-7900 and 9114-8500 requires (30) #10-12 screws

Minimum order quantity per part #: 10 (sold individually):

o Broken carton charge for less than 10

GIBRALTAR

421N. Centennial St. | Zeeland, M1 49464 | 616-748-4857 | www.gibraltarinc.com



